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Rearrangement of Sentences for SBI Clerk Pre, IBPS Clerk Pre, LIC 

Assistant and IBPS RRB Exams. 
Set No 37 
 

Directions: Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in a proper 
sequence to form a meaningful paragraph. Then answer the questions given below. 
 

A. They took to social media to criticize the university administration. 
  
B. But the decision did not go well with the students. 
  
C. Recently, XYZ University decided to install suicide prevention devices on hostel fans after a 
spree of three suicides in hostel rooms in the last one year. 
  
D. Incidents of students committing suicides are on the rise in India. 
  
E. When contacted, the VC of the university said that a proper grievance redressal mechanism 
would be set up soon. 
  
F. They wanted the administration to employ a mechanism to check discrimination and 
harassment on campus. 
 
 
 

1. Which of the following should be the SECOND statement after rearrangement? 

A. A   B. B   C. C   D. F   E. E 
 

2. Which of the following should be the FOURTH statement after rearrangement? 

A. A   B. B   C. C   D. D   E. F 
 

3. Which of the following should be the THIRD statement after rearrangement? 

A. A   B. B   C. F   D. D   E. E 
 

4. Which of the following should be the FIRST statement after rearrangement? 

A. A   B. B   C. C   D. D   E. E 
 

5.  Which of the following should be the SIXTH statement after rearrangement? 

A. A   B. B   C. C   D. D   E. E 



 

 

Correct Answers: 

 

1 2 3 4 5 

C A B D E 
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Common explanations: 
 

Analysing the given sentences, we see that, sentence B starts with the conjunction ‘but’. 
 
But, the beginning sentence cannot begin with a conjunction. Hence, it can be discarded as the beginning 
sentence. 
 
Sentence A and sentence F start with the pronoun ‘they’. They cannot also be the beginning sentences. 
 
Sentence E, beginning with ‘when’, does not introduce the idea flowing through the sentences. 
 
Between sentence C and sentence D, sentence D introduces the idea of the entire paragraph. Hence, it will be 
the beginning sentence. 
 
Connecting D and C:- 
 
Incidents of students committing suicides are on the rise in India. 
 
Recently, XYZ University decided to install suicide prevention devices on hostel fans after a spree of three 
suicides in hostel rooms in the last one year. 
 
Sentence C elaborates upon the idea introduced through sentence D. Sentence D and sentence C form a 
mandatory pair. [D-C] 
 
Connecting C and B:- 
 
Recently, XYZ University decided to install suicide prevention devices on hostel fans after a spree of three 
suicides in hostel rooms in the last one year. 
 
But the decision did not go well with the students. 
 
Sentence B gives more information about the aftermath of the decision taken by the university. Sentence B 
closely follows the idea presented through sentence C. [C-B] 
 
Connecting B and A:- 
 
But the decision did not go well with the students. 
 
They took to social media to criticize the university administration. 
 
Sentence A tells us how the students gave vent to their displeasure (=We came to know of this displeasure in 
sentence B). Sentence A tells us that the students took to social media to criticize the administration of the 
university. “They” of sentence A is the substitute of “the students” of sentence B. [B-A] 
 
Connecting A and F:- 
 
They took to social media to criticize the university administration. 



 

 

 
They wanted the administration to employ a mechanism to check discrimination and harassment on campus. 
 
Sentence F presents the demands of the students and closely follows sentence A. [A-F] 
 
Connecting F and E:- 
 
They wanted the administration to employ a mechanism to check discrimination and harassment on campus. 
 
When contacted, the VC of the university said that a proper grievance redressal mechanism would be set up 
soon. 
 
Sentence E tells us about the university administration’s stance with respect to the students’ demands (that 
was presented through sentence F). [F-E] 
 
The correct sequence is: DCBAFE 
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Answers : 
 
1.   As per the question, the SECOND statement is C. 
  

Hence, option C is correct. 
 
 

2. As per the question, the FOURTH statement is A. 
  

Hence, option A is correct. 
 
 

3. As per the question, the THIRD statement is B. 
  

Hence, option B is correct. 
 
 

4.   As per the question, the FIRST statement is D. 
  

Hence, option D is correct. 
 
 

5. As per the question, the SIXTH statement is E. 
  

Hence, option E is correct. 
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